613 ,
610

(Cross-Tabulation)

< 005

3 1,000 , 1,000-1,999 2,000
0
610 1,000-1,999
2,000

1,000 42.9, 304 26.7

610

:Chi-Square)



417

30
1,000
1,000-1,999
2,000
1,000
34.0 18.2
38.5

1,000- 1,999

34.1

2,000
21.5

26.7

429

304

100.0

87

99

312
199

610

3l

1,000

2540; 48)



Square)

1,000

a

88

32

[ ) (Chi -

< 0.05
1,000
( )
<1000 1000-1999 2,000
182 477 U1 1000 (306)
U B5 275 1000 (304)
%6709) 428310  305(1%) 1000 (610)

X2 = 18173 b <005



kY

(

< 1,000 1,000- 1,999 2,000
19.7 50.7 29,6

39.3 3756 23.1
318(64)  42.6(196)  25.6(99)
X2 = 15544 P < 0.05
=

117 477 3.1

340 385 275

267(35)  428(116)  30.5(100)
X2 = 18173 P < 0.05

89

100.0(161)
100.0(198)
100.0 (359)

100.0 (145)
100.0 (106)
100.0 (251)



90

33
1,000 30
2,000
35
465 30-34 ,25-29
20 -24 13- 19 39.8,28.8,26.7  25.2
34
1,000 1,000-1,999
25-29
2,000 25-29

< 0.05



91

33
( )
<1000  1,000-1,999 2,000
13-19 28.7 46.2 25.2 100.0(166)
20 - 24 32.6 40.6 26.7 100.0(178)
25 -29 20.6 416 28.8 100.0(111)
30-34 18.1 422 39.8 100.0 (63)
35 10.7 428 46,5 1000 (92)
26.7(99)  42.8(312)  305(199) 100.0(610)

x 2= 23.098 P <0.05



34

13-19
20 - 24
25-29
30-34
35

13-19
20-24
25 -29
30-34
35

<1000 1,000 - 1999
153 525
153 576
17.7 6.1
14.6 51.2
8.5 35.6
144 (49) 533 (128)
X1 . 23691
29.0 505
8.6 60.2
18.4 28.6
9.1 36.4
15.2 515
18.1 (106)  49.0(120)

X2 = 34.366

(
2,000

32.2
211
16.1
34.1
55.9

32.4(90)

P < 0.05

20.6
31.2
53.1
54.5
333

32.9(86)

P < 0.05

92

100.0 (50)
100.0 (77)
100.0 (47)
100.0 (43)
100.0 (50)
100.0 (267)

100.0(113)
100.0(117)
100.0 (40)
100.0 (19)
100.0 (23)
100.0(312)



3

(Chi = Square)

20 - 24

<0.05

31.6
(Chi - Square)

1,000
( [ 1) 31.8 175
(71
1,000 - 1,999 2,000
(1 1)
39.0 25.8
< 0.05
36
(/ st ) 38.7
(Chi - Square)
20-24
20 - 29 (
1,000
21.7
< 0.05
1,000
1,000

20- 24

93

1,000

1,000
114



(
<1000 1,000 1999 2,000

31.8 42.4 258
175 43.5 39.0

26.7(99)  42.8(312) 305 (199)
X2 - 17677 P <0.05

94

100.0 (359)
100.0(251)

100.0(610)



36

13- 19

20-24

25-29

30- 34

H 4+

< 1,000

28.2

|1 333
28.4 (40)

X2 = 0438

38.7

|14
325 (21)

X2 = 11507

277

|| )3L6
29.4 (20)

X2 = 1456

9.1

|1 ) 196
17.7 (8)

X2 = 1334

16.7*

Il ) 103
10.8(10)

X2 = 0502

Q1. 1g

1,000 - 1,999 2,000

46.8
33.3*
46.3 (85)
P < 0.05

36.7
54.5
40.7(105)
P <005

46.2
34.2
41.2 (55)
P < 0.05

36.4
43.1
41.9 (29)
P> 005

50.0
42,6
43.2 (38)
P> 0.05

(

25.0
33.3*
253 (41)

2.7
3.1
26.8 (52)

34.2
34.2
29.4 (36)

54,5
373
40.3 (26)

33.3*
471
45.9 (44)

95

100.0(158)
1000 (8)
100.0(156)

100.0(121)
1000 (57)
1000 (178)

1000 (57)
1000 (54)
100.0(111)

1000 (14)
100.0 (49)
1000 (63)

1000 (9)
100.0 (83)
1000 (92)



96

37
< 00
1,000 / ' / / /
59 24 23 21
2,000 16.8
/ ' / / /
168,292, 368 5.6
1,000- 199 /
/ / /
485,433 416 213

(Chi - Square) < 005

38
1,000
2,000
< 0.05
1,000
I 63.2, 31.7 212

2,000

2
1,000 I
[ / [ 1,000

< 0.05 < 0.05



37

( )
<1000 1,000 -1,999 2,000
21 133 54.6
55.9 273 16.8
223 185 29.2
22.4 416 36.0
26.7(99)  42.8(312) 30.5(199)
X2 = 64.165 P < 0.05

97

100.0 (46)
1000 (59)
100.0 (330)
100.0(175)

100.0 (610)



38

< 1,000

9.1*
28.6

15.

23.9

183 (44)

X2 = 11690

*%

63.2
317
212
3.1 (55)

X2 = 50.443

1,000 - 1,999

2,000
36.4 54.5
52.4 19.0
53.3 31.5
35.2 40.8
47.8(163) 34.0(99)
P> 005
458 54.2
211 158
42.1 26.2
41.1 31.8
38.6(149) 27.3(100)
P <005

98

1000 (14)
1000 (19)
1000 (204)
1000 (69)
1000 (306)

1000 (32)
1000 (40)
100.0(126)
1000 (106)
1000 (304)



< 0.05

1,000

1,000 -

2,000

(Chi - Square)

2,000

1,999

42.8

99

317
18.1 103
48.8
40.7
46.9
3.1 21.6
(Chi - Square)
2,000
2,000
< 0.05
1,000



100

39
( )
<1000 1,000- 19099 2,000
18.1 188 3.1 100.0 (142)
377 407 216 100.0 (299)
103 128 46.9 100.0(199)
26.5(99) 430(312)  30.5(199) 100.0(610)
X9 = 54.382 P < 0.0
40 1,000
12 - 2
35.4 6-11 6
28.2 14.6 1,000 - 1,999
6 53.3 6-11
12 -24 386 370
6-11 33.2
6 12- 24 320 276

(Chi- Square) < 0.05



6-11

6-11

38.8

6-11
12-24

12 -

28.6

40

24

12-24

12-24

1,000 -

4
19,0
178 16.9
6-11
b 32.6
1,000
46.8
6 375 8.3
1,000
1,999
54,8 6-11 12-24
1,000
(
<1000 1,000 - 1,099 2,000
146 53.3 32.0
28.2 38.6 33.2
35.4 37.0 276
26.7(99) 128(312)  30.5(199)
X, = 57.921 P < 0.05

28.6

101

1,000

43.8



41

6-11
12-24

6-11
12-24

( )
<1000 1,000-1999 2,000

19.0 50.4 28.6
178 38.4 138
16.9 50.6 326
18.0(44) 479(163)  34.1(99)
X, = 5120 P> (.05

8.3 5.8 36.9
375 38.8 23.8
169 28.6 245

34.1(55) 38.3(149) 27.7 (100)
X2 = 36905 P < 0.05

102

100.0(116
100.0 (86
100.0(104
100.0(306

100.0
100.0
100.0
100.0

—_

107)
80)
117)
304)

- TS
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